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T SERCT SEHC | ME2lIC | ME2JCT| =ZZFIC |F3ACT| EHIC |2X[QICT
SECT - 1,500 2,200 2,500 2,700 3,000 3,500 3,700
SEHC 1,500 - 1,800 2,200 2,300 2,600 3,100 3,400
M&2liC 2,200 1,800 - 600 800 2,300 2,800 3,000
ME2JCT 2,500 2,200 600 - 500 1,900 2,500 2,700
z=IC 2,700 2,300 800 500 - 1,800 2,300 2,500
58JCT 3,000 2,600 2,300 1,900 1,800 - 2,100 2,300
EHIC 3,500 3,100 2,800 2,500 2,300 2,100 - 1,300
=X RCT 3,700 3,400 3,000 2,700 2,500 2,300 1,300 -




[A2F] 25 A%,

£ Z 279.4mm =3 ¥4 1,800mm °]|3HFHSE A,
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T2 SERCT SEHC | ME8lC (M&8CT| =ZFIC |HJCT| EHIC |ZXIQICT
SECT - 1,900 2,200 2,600 2,800 3,000 3,600 3,800
SEHC 1,500 - 1,900 2,200 2,400 2,600 3,200 3,400
M&elic 2,200 1,900 - 700 800 2,300 2,800 3,100
M&lJCT 2,600 2,200 700 - 500 2,000 2,500 2,800
Z=|C 2,800 2,400 800 500 - 1,800 2,300 2,600
g8lJCT 3,000 2,600 2,300 2,000 1,800 - 2,100 2,300
EHIC 3,600 3,200 2,800 2,500 2,300 2,100 - 1,300
=X 2JCT 3,800 3,400 3,100 2,800 2,600 2,300 1,300 -

[A3F] 25 A, &F 279.4mm 27, &4 1,800mm ZINHF AL, 25 HFSHEAD
(el - 2)

T SERCT SEHC | ME¢2lIC | ME2CT| =ZZIC |F32ACT| EHIC |2X[IQICT
SEKCT - 1,500 2,300 2,600 2,800 3,000 3,600 3,900
SEHC 1,500 - 1,900 2,200 2,400 2,600 3,200 3,500
M&2liC 2,300 1,900 - 700 900 2,300 2900 3,100
ME2JCT 2,600 2,200 700 - 500 2,000 2,600 2,800
Z=|C 2,800 2,400 00 500 - 1,800 2,400 2,600
58JCT 3,000 2,600 2,300 2,000 1,800 - 2,100 2,400
EHIC 3,600 3,200 2900 2,600 2,400 2,100 - 1,300
=X RCT 3,900 3,500 3,100 2,800 2,600 2,400 1,300 -

[A14F] 35 P 3=t

(el - 2)

T2 SERCT SEHC | ME8lC (M&8CT| =ZFIC |HLCT| EHIC |ZXIQICT
SEKCT - 1,600 2,500 3,000 3,200 3,600 4,400 4,700
SEHC 1,600 - 2,000 2,400 2,700 3,000 3,800 4,100
M&2liC 2,500 2,000 - 800 1,000 2,600 3,400 3,700
ME2JCT 3,000 2,400 800 - 600 2,100 2900 3,200
Z=|C 3,200 2,700 1,000 600 - 1,800 2,600 3,000
58JCT 3,600 3,000 2,600 2,100 1,800 - 2,300 2,600
EHIC 4,400 3,800 3,400 2900 2,600 2,300 - 1,400
=X RCT 4,700 4,100 3,700 3,200 3,000 2,600 1,400 -
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= SELCT SEHC MEQIC |ME8SUCT| =ZC |&22JCT| EFHIC |=2X|2RCT
SENCT - 1,700 2,700 3,200 3,500 3,900 4900 5,300
SEHC 1,700 - 2,100 2,600 2,900 3,300 4200 4600
MEelCc 2,700 2,100 - 900 1,200 2,800 3,700 4100
MEelJCT 3,200 2,600 900 - 700 2,200 3,200 3,600
Z3C 3,500 2,900 1,200 700 - 1,900 2,900 3,200
S52°2IJCT 3,900 3,300 2,800 2,200 1,900 - 2,500 2,900
TF|C 4900 4200 3,700 3,200 2,900 2,500 - 1,500
=X|2JCT 5,300 4600 4100 3,600 3,200 2,900 1,500 -
GAF AT BRE  EFIC-ELQIICT B3P FF
[A1F] 2% 2AF, &Z 279.4mm ©)3HS €3, 2853, 28383
(Eh2l - 2l
= SELCT SEHC MEQIC |ME8SUCT| =ZC |&32JCT| EFHIC |=2X|2KCT
SELCT - - - - - - - -
SEHC - - - - - - - -
Mgelic - - - - - - - -
MgelJCT - - - - - - - -
Z3IC - - - - - 900 - -
58elCT - - - - 900 - - -
ZH|C - - - - - - - -
2| 2kJCT - - - - - - - -

[A2F] 25 A=, &F 279.4mm 23, &7 1,800mm °|3H(FHFsd 2, THFEA)

(SRl 3)

T2 SERNCT | SEHC | MBQlIC |[MBQUCT| =ZJC |E8QJCT| ZHIC |2X[QICT

SERCT - - - - - - - -

SEHC - - - - - - - -

M-B2lIC - - - - - - - -

ZX|2lCT - - - - - - - -
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